
www.racecardynamics.com  RCD Suspension    619-588-4723          info@racecardynamics.com 

Page 1 - #16-15084 

           1984-2001 JEEP CHEROKEE 
ROCK SLIDERS 
P/N: 10-15084 

INSTALLATION INSTRUCTIONS 
 

PART LIST 
 

ITEM      DESCRIPTION             QTY.   
 

06/05/13 

Box 1 10-15084   

    

20-15084-1 Cherokee Rock Slider, Drivers Side 1  

20-15084-2 Cherokee Rock Slider, Passengers Side 1  

20-72098 Hardware Pack, Mounting   

   20-15084-6 Spacer, Front 2  

   13-24095-Z 3/8” x 1” Thread Forming Screw 14  

   13-20053-Z 3/8”-16 x 1” Bolt 2  

   13-10022-Z 3/8”-16 Nyloc Nut 2  

   13-21352-Z 1/4”-20 x 1” Bolt 16  

   13-24069-SS 1/4”-20 x 3/4” Button Head Bolt 18  

   13-24082-Z 1/4” x 1-1/4” Self Drilling Bolt 4  

   13-11151-Z 1/4”-20 Rivet Nut 18  

   13-10161-Z 1/4”-20 Nyloc Nut 16  

   13-30012-Z 3/8” Flat Washer 4  

   13-30993-SS 1/4” Flat Washer Stainless Steel 18  

   13-31006-Z 1/4” Flat Washer 32  

    

    

    

    

    

http://www.racecardynamics.com/


www.racecardynamics.com  RCD Suspension    619-588-4723          info@racecardynamics.com 

Page 2 - #16-15084 

Rock Slider Installation Instructions  
 
 

1. Working on one side at a time, using floor jack, raise Rock Slider so it is against  Rocker 
Panel and Frame of vehicle. NOTE: If installing with RCD Long Arm Kit, Slider will line up 
with holes in frame bracket. If installing alone, Spacer (20-15084-6) will fit between Slider 
and Frame at front. (See Illustration) 

2. Using a scribe, mark all holes on Rocker Panel, Pinch Weld and Frame. 

3. Lower Rock Slider, then center punch centers of all hole locations marked.  

4. Drill 25/64” holes in the Rocker Panel, 9/32” holes in the Pinch Weld, and 21/64” holes 
where the 3/8” Thread Forming Bolts will be installed. Drill the hole into rear spring pocket, 
for the 3/8”-16 x 1” bolt, to 13/32”. Holes for the two Self Drilling Bolts will not need to be 
drilled. 

5. Once all holes are drilled, install Rivet Nuts (13-11151-Z) in 25/64” holes in Rocker Panel. 
A Rivet Nut Setting Tool is necessary to accomplish this. 

6. Raise Rock Slider in place and install all hardware. Be sure to use Anti-Seize on the Stain-
less Steel bolts. 

7. Repeat process on opposite side. 

3/8” Nyloc Nut 

13-10022-Z 

1/4” Flat Washer 
13-31006-Z 

1/4” Nyloc Nut 
13-10161-Z 

1/4” x 1-1/4”  
Self Drilling Bolt 

13-22756-Z 

Spacer Plate 
20-15084-6 

3/8” x 1” Bolt 
13-20053-Z 

Rock Slider 
20-15084-1 

1/4” x 3/4” Button 
Head Bolt 

13-24069-SS 

3/8” x 1” Thread 
Forming Bolt 

13-24095-Z 

1/4” Flat Washer 
Stainless Steel 

13-30993-SS 

1/4” x 1” Bolt 
13-21352-Z 

3/8” Flat Washer 
13-30012-Z 

FRONT 

DRIVERS SIDE SHOWN 

http://www.racecardynamics.com/

